o FAEAOE: $377, 078

ERBN ———REE - BGE L FRAEETE(E+AE)

FhFAEA: $41.1

‘F3448: $75, 416

BT

BATHE

B EE: ‘

L 2 y bl
& %
©Wde {“\‘,.f

——

B&:

| 5 A2 HEE#H—). 5 H 28 H(EH—). 5 B 29 HEH=). 5 A 30 H(ZEHm) 5 A 31 H(Z#H)
Pim| 1833 AFAM:$36997) [rm] 1,833 AFEfE:$91,469) [Am] 1,833 AGEM:$131,940) || 1,833 A(FE{E:$73,698) Irw] 1,833 A(FEM:$42.974)
E LTEEEN E3:3 HEK B EX-3 g EX-3 e B E5:) /INEECER
Rl Jio ol X fip BE s fig Rt BOE Pewl B E s ik 2
F|GB42CET/NT | 25tRI B [ EREAE 6) 1833{E PAY [PHI%H(4H) 220K oll 915 |Zfef T " 1R 108K off %j |FHAI T 3K "cas 7Kg
T F |PBEH3K*Q TH) F |BETCK)E" 3E) 8 | FRAKE3K () 1360 JH |BECEHE DEMIE | 27Ke| & A cas 60Kg
B FEEAIIT 18Kglf 7 |EE4% 3Kefl 3% |EBEHEE"12K 12K olf 15 | K7 15K & i 144 3% |5 T1.7K 2941
J& |KEZ*1K 6l f [ 1K off i |He/E441.7K 1060] %% |5 figE- I8RO 30K g Hl [& 5l 1Kg
KZEE-EE 10Kg  |BEfRED) 03Kgf [ARHZ*IK ofll 13 | & L5Kef  |/\ARUTRIFEE* 16
HE 2Kg KEFEEIEQ 40K gf B [ 2Kell  |EEARED) 0.2Kg
B 1.5Kg SRS T 1) |[ZEETHAS4eK 34
¥ AT ZEE-FEERE 10Kgl [BBHSL(R)EHE 21
X E]cas 0K
3 R 12K 120Kefl [B |[EFH 96Kell F |FEHERRLY1200cas | 1833(E &5 [ A& /K0.* 145K off % |45/00 115Kg
Bl |FEER3K SEL o | RESE AN EEQ* 48K ofl 1} | &R 1Kgl JK [SZEQR(E7K)4I3k sE K [FE42KEVI/NT | 151
HE|ER 3Kell T |42 E-FEEOK 10K of 5% | E H 1K ol Y& (4T ZE%E]-FE B 10Ke| & |F#E/NE(4E)Q 9Kg
b F (&5 1Kol 7 JNE- K10 A BHE 1) 5 | &rr— 1Kol &5 |41 2EE)-EIB 10Kg
¥ = BE 1Kgff Filt = % | B4k 1.5Kg
oot | 1@ EE 2Kg]
B ELE-EE 122Kl B |EIREEERIVK| [EF|H |EERSEEE12K| EEH (A2 Em120K|  EEl A |[BEERARI2K] &
Hl 34 |[FrER L LT" 1) 4 |TREERRLI T 10| H% | FREERALY 1T 1) P |FREERR4T LT " 1) 1% |FREERR&Y 1T 16
¥ B =1 = il =1
i il X pa 2L
E 554 30K gl 3 [REoHEQ.* 45Kofl 7% | 2/ DEI20 A" 9260) #F |4 HHQ.* 18K gfl & |4EF 30K 2UE
S & | ERIE A 30Kgll JI\ |PRsEHERE " 12K 12Kel & i | B B IERTY 30K e} Z. [ibHE2SK(EHE) JREa
o B4k 1Kef & [ X B Vcas 3Kgf #b CA 2Kell 3%
& (X FVlcas 6Kgll 16 |4LZEE)-FEE4K EE ZF | X Ecas 6Kg
> 5 5
N REA TR u%%
BB k= | 272(El AR IEAH 10Kg
K B s 1333(F 4 (3%)08;00 17183, ! Fa 1833
Bl 2B TAFE AR MERE | 2B SR GE AR WE 28 | 28 Um 5 8 il 28 | 28 T 5 KR Bls 208 | 223 ol 5% KR as Be
% 5.6 1.8 1.3 2.4 668 Sa0 30l 3. 10N 15688740 S50 190 11 00 0209 T2 5.2 2.1 2.0 1.0 2.8 758 6.3.2.1 1.7 3.2 786

’ »:-'4{"/"”‘
iy



AR, ———RER SRS FRAEZHAFE T ABD KR

5 A 21 H(ZH—)

5 H 28 H(EHIT).

5 H 29 H(EH=).

5 H 30 H(ZHAM)

5 A 31 H(Z#H)

A% 33 A 33 A 33 A AB 33 A 33 A
£ 3 K EX WK AR Iy Ex 3 WK B INECER
B fic 8 |xs it K HE fic 28 s it & |zs it K 2
K| D4 0CRTIINT B |E5a 33{E| 2 |4 ¥ |(ZHE T 3K e EapiE JELF
W BB EEE3K*Q 2 SHEH % 1Kgf 71 [F KM SKE £ =
=2 7 B FGK)a" ARELH*1K 15 |75 fEaE-tIERQ % |25 T1.7K
J& [AREZ*1K T |[E4% HE441.7K ok (B A
AEE-EE =) VREEREE" 12K = BRIED)
FRIED RKEFEEINEQ B (=5 L ()48 J\ARLUTREE*
KZEE EE ZHEYHAS4gK o
¥
3 | JEBEREE" 12K | |[ETH & | ZAFA 33{E) = | A=ENQ.* & [430Q
Bl FF |FEER3K 8 | AN EQH p] JK JN | FIE42CETNT
T [4LZEE-EEK =k 15 & | EZEQR(E7K)43k B (BN EEE)Q
52 A s - K10ABHE B4 5%5E-EE & 4R
A GIREON 2
B |ZELYE-ER B EHEEERINK| EF| A [ARSEEEI2NK| EE| B (Y ERINK| ER B |ERERARINK| EfR
H 3 | B4 0.1Kg|| 1% |E4% 0.1Kgff 1 | E4% 0.1K gl 1% | E4% 0.1K gl 1% (B 4% 0.1Kg
¥ B =1 = il =1
E 5. S [RHEQ. 7Z& (a0 A" #F | FEHQ.* &k |4E 530K
B & | ke A JK [JEEERETE " 12K =2 i |E R IEE I |bkESK (G HE)
o B E [KLZEE - EEK b = 5
& 1€ a %
5 = %
MR RA TS »
BiEH PRE B 5 AR EQ RE-FFA A
e 45 (8)08:00 HER"

ER R B B dis #E

2 TR B KR HiE #E

£ BA xR KR i 2E

s %ﬁ‘ﬁﬁfﬁ:

e —

=Tv |

R:




